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If so; it is the same as 77797 29 — S0 929 19977 991 ON

OVERVIEW

The X713 stated a view that we derive that 2127 is not 712 since the Xn»92
states (concerning 7373 72°wn) that 11 NXT 7712, indicating that 2127 1s not
71p. The &3 replied that perhaps 2127 is 2 and the words 7 7722 exclude
if the 71 was done in reverse; 712°wn by a i and 73737 by a 913, The Raa
challenges this answer, for if this is the intention, then the p"n agrees with
"9 who states it must be only 9232 12°wn and Mmna A3, Our NMdOIN
maintains that the X3 could have refuted the answer (of XJ9X >ULIWN9)
differently.

— P9I MNYPNRY K8N NN
The X3 could have challenged this view [that 1P nXT 7722 excludes the

opposite (?n32 73T MmN 72°wn)], from the very Xn»na itself, without

resorting to 77 "M -
:1’3‘,7 I8 INA2T NN YNRY N3N THNRI TUIN THX NPV IN INPT

For since the Xn»72 teaches ‘or if one was pulling and one was leading
they are both 12, we can derive from this that at least in one case (by a

%13 or by a 7mn) both 2°1°1p (of 73737 72°Wn) are 7P, so how can you state that
1P NXTA A71R3 is excluding the opposite, when it is apparent that even in the ‘opposite’,
they are both 7117 (at least in one case).

SUMMARY
We cannot maintain that 1p 7 7712 excludes X39°X, for the Xn»92 clearly
states that 277372 'R) U 'R 1s P,

THINKING IT OVER

Seemingly nm5o1n could have asked his question on the conclusion of our
Xnx that *3p X7 7% 711 X2°K. How can we say that there is a 7% 17 where it is
7112, when the ¥n> 92 states 112 17 7713; indicating that there is not even a 717
P77 (as MdOIN seemingly maintains®)?

' The vw"n of 13 7 7712 would indicate (at least according to N19oIN understanding now) that a 7M1 can
never be 712°wn2a 13p1 and a 913 can never be 737372 7P, Otherwise (if we assume that 13p 7 7722 does not
exclude both 9132 7373 mna 72°wn) then what is the question, perhaps 11 7712 excludes only one ( 72°wn
TIm2 or 232 7). See ‘Thinking it over’.

% See footnote # 1.
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